
8125 BAYBERRY ROAD, JACKSONVILLE, FLORIDA 32256 USA PHONE 904-739-2626 FAX 904-737-5261
WEBSITE: WWW.USA.SPECK-PUMPS.COM 02/2015

2/
1

2

66
/1

41

7
60

8
59

9
18

/1

58

10

48

35

63

38
37

39

1

57
56

33

32
31

30

65

29
/1

26

27
27

/1

64

23
/1

67
28

69
70

71

39
/1

62

20
/120

19

54
/1

16

15

6

49

36

BADU®JET Inspiration
SwimJet Systems



8125 BAYBERRY ROAD, JACKSONVILLE, FLORIDA 32256 USA PHONE 904-739-2626 FAX 904-737-5261
WEBSITE: WWW.USA.SPECK-PUMPS.COM 02/2015

2319800922
2319800839
2319800913
2620000201
2319800912
2301001007
2319800921
7319800906
2301001006
2319800919
5879006023
2319800817
2302002056
2302002058
2319800924
2302002854
2901141211
2301001008
2307004003
2306006006
2306006005
5880800420
5880800418
5880800419
2319800916
5879021080
5876797080
5879330825
2308700605
5882502014
7300160017
7300160021
7300160026
2088331528
2302080070
5871250800
5876797080
2991000131
2306005041
2319800820
5825002197
2319800807
2319800902
2319800850
2319800862
2319800836
2319800840
5879813513
5879006023
5879330825
5876797080
5879021080
2991000003
2991000023
2991400051

1
63
2

60
2/1
6
7
8
9

10
15
16
19
20

20/1
54/1
58

18/1
23/1

NOT SHOWN
26

NOT SHOWN
27

NOT SHOWN
28
30
31
32
33

27/1
NOT SHOWN

29/1
29/2
35
36
37
38
39

39/1
41
48
56
57
59
62
64
65

66/1
67
69
70
71

NOT SHOWN
NOT SHOWN
NOT SHOWN

1
1 
1 
2 
1 
1
1 
1 
1 
1 
1 
2 
2 
4  
2 
2 
1 
6 
1 
4 
4 
1
1
1
1 
4 
4 
4 
1 
1
2
2
1 
1 
2 
4 
4 
4 
4  
1
1 
1 
1 
1 
1   
1 
2
4  
8 
4 
4 
4 
4
2
1

TOP COVER CPL
SNAPLOC COUPLING (MALE) - TOP COVER
PNEUMATIC PUSH BUTTON CPL - LIGHT ON/OFF 
THREADED INSERT, 50mm x 1-1/2”
PUSH BUTTON CPL - PUMP ON/OFF, AIR REGULATION
HOSE, 8 x 3mm - AIR REGULATOR
LOWER COVER
SUCTION LINE CPL
Y-BARB
DISCHARGE LINE CPL
SELF TAPPING SCREW - BALL NOZZLE FLANGE, 6 x 22mm A4
NOZZLE FLANGE
NOZZLE ADJUSTING SEAT RING
NOZZLE SEAT GASKET - SPACER RING, 60 x 73.5 x 1mm
DISC - SUPPORT
BALL NOZZLE 40mm, ADJUSTABLE
O-RING 68 x 3.5mm, DISCHARGE UNION-PUMP
HOSE CLAMP, ADJUSTABLE 13.2-15.7mm
POOL WALL ADJUSTING SCREW  
POOL DECK ANCHOR M8 
RUBBER/METAL SPACER, M8 x 36mm 
SAFETY SWITCH CPL ASSEMBLY
SAFETY SWITCH
SAFETY KEY
BASE PLATE CPL 
WASHER 8.4 x 24mm, A4 
LOCK WASHER 8.4mm, 316 SS 
HEX HEAD BOLT M8 x 25mm, 316 SS 
CONTROL BOX  CPL 
STRAIN RELIEF (CABLE GLAND) M20 x 16 (1.5) 
STRAIN RELIEF (CABLE GLAND) 3/8” NPT GRAY
STRAIN RELIEF (CABLE GLAND) 1/2” NPT GRAY
STRAIN RELIEF (CABLE GLAND) 3/4” NPT GRAY
PUMP - MODEL 21-80/33 GI  4HP S.F. 1.25  
PVC HOSE WITH SOCKET 
WASHER 8.4mm, A4 
LOCK WASHER 8.4, 316 SS
HEX HEAD BOLT M8 x 12mm, 316 SS 
RUBBER/METAL SPACER M8 
LIGHT COVER - DUO
VENTILATING VALVE G 1/4  
HAND PUMP HOLDER BRACKET
HAND VACUUM PUMP CPL 
GASKET 80 x 70.5 x 7.5mm NBR, UNION SUCTION   
LIGHT LED 12V AC - WHITE, 1M, VERSION A  
FOAM SEPARATION WALL - MOTOR 
SNAPLOC COUPLING PIN (FEMALE) - BASE 
SELF TAPPING SCREW - LIGHT COVER 3.5 x 13mm A4   
SELF TAPPING SCREW 6 x 22mm A4 
HEX HEAD BOLT M8 x 25mm 316 SS
LOCK WASHER 8.4mm 316 SS 
WASHER 8.4 x 24mm A4
SCREW - CONTROL BOX MOUNT, #6-32 x 3/4”
SCREW - SAFETY SWITCH, #6-32 x 1-1/4”
CORD - 15’ (10 GAUGE) W/ GFCI

**SEE NEXT PAGE FOR ADDITIONAL PARTS

PART
NUMBER

DRAWING
NUMBER

QTY
REQUIRED

DESCRIPTION LIST
PRICE

363.10
2.30

35.00
2.30

35.00
7.00

386.20
58.40

5.00
152.20

2.10
10.10

6.60
1.40
6.20

24.50
2.20
4.70

20.70
1.00

16.50
130.30

93.90
36.30
47.80

0.50
0.70
2.70

444.50
3.50
3.60
4.60
6.90

2,429.50
17.30

0.50
0.70
2.70

19.90
48.00
17.30

2.30
27.70

3.70
104.00

26.40
1.40
0.70
2.10
2.70
0.70
0.50
0.10
0.20

532.00

$

BADU®JET Inspiration
SwimJet Systems



8125 BAYBERRY ROAD, JACKSONVILLE, FLORIDA 32256 USA PHONE 904-739-2626 FAX 904-737-5261
WEBSITE: WWW.USA.SPECK-PUMPS.COM 02/2015

0.50
16.30
72.00
78.60

102.90
108.90

11.10
171.80
271.30

64.90

2923541220
7400000187
7400000225
7400000285

0319851000
2319800861
2319007011
2300003000
2300003006
2300022000

NOT SHOWN
NOT SHOWN
NOT SHOWN
NOT SHOWN

49
62

NOT SHOWN
NOT SHOWN
NOT SHOWN
NOT SHOWN

2
2
1
1

1
1
1
1
1
1

O-RING - CONTROL BOX, AIR SWITCH 12 x 2.5mm
AIR SWITCH - CONTROL BOX
TRANSFORMER - CONTROL BOX, 2.5, 12, 24V
CONTACTOR - CONTROL BOX, 30A 12 VAC

TELESCOPIC SUPPORT, CPL (ABOVE GROUND POOL) 
LIGHT LED 12V AC - MULTICOLOR, 1M, VERSION A
ANGLE FITTING CPL - POOL WALL, ABOVE GROUND
MASSAGE HOSE 5 FT. WITH PULSATOR
MASSAGE HOSE 15 FT. WITH PULSATOR
CAP - NOZZLE, CLOSE OFF

OPTIONAL PARTS

PART
NUMBER

DRAWING
NUMBER

QTY
REQUIRED

DESCRIPTION LIST
PRICE

$

BADU®JET Inspiration
SwimJet Systems


